
CALCUL MENTAL



Soustraire un nombre 
multiple de 100 à un 
nombre de 4 chiffres 

6 384 - 600 = 



7284 - 500 =

1



8363 - 700 =

2



9160 - 400 =

3



4828 - 900 =

4



6295 - 700 =

5



6498 - 800 =

6



2738 - 900 =

7



4103 - 600 =

8



8490 - 600 =

9



1395 - 800 =

10



CORRECTION



7284 - 500 =

1

6784



8363 - 700 =

2

7663



9160 - 400 =

3

8760



4828 - 900 =

4

3928



6295 - 700 =

5

5595



6498 - 800 =

6

5698



2738 - 900 =

7

1838



4103 - 600 =

8

5503



8490 - 600 =

9

7890



1395 - 800 =

10

595


